
HOMEWORK 5 - W25
-

GRIFFITHS 0 . 28

(b) Starting points are
curle = -B = inBoe"(Rz-wt)

It

cares=-EithThen&CureEziw
(cureB)=ByBBy=
Next take 9

. 101 as given

Multiply 9
.
101 (iii) by R . This give

iPEx : inByE
Multiply 9

. 181(1) by w .

This give



-In Ex = -inkByB
Now do+B

ike = R +w
Ex= [Rw
# Ex = iBy +t

B-iE =-i
② : 0 = i(R)By
-

#R
-i[ RYBy=



- iTR2] By=+
By=R

(b) E = 0

Suppress

[
& iCrz-wt#the e
Let A= k from the

equation Note-ikEz
AThi=
+ iEz=

TJE=

Next
,
let's use Fi=B

+ iRB



ATROB -R
Some algebra es above with BEXX

-
PROBLEM 9

. 29

TEoo implies that Ez=0 and K=)

From 9 . 181(vi) &BREx- = iRB-
From 9

.
181 (ii)

Ez= o

oiwik ↓- Bx = - Ey/
because I

someher



From 9
.

181 (ii) iREx- = in By

By
= Ex

But since OB = iR[By-E)B
Now 9

. 183 (i) withB =0 AND
implies Ex = 0

But we had B Ex =o ifEx

Then 9
. 182(ii) withB = 0 AND

Implies Ey =0

Since Ex = Ey = Ego ,
no wave

I guess I did not exactly follow the hint-


